Date : 21 September 2020 Shift ; II {Afternoon)
Timing : 12:00 NOON to 2:30 PM Paper : I (Computer Science 207)




IRT | TGN €T gIoNg UN0Y §
() =T RO (@) T sparvy
(1) URAR Tu9Tg spaRUy (9) PRIRT T =+

The largest wild life sanctuary in India is:

(A) Ghana Bird Sanctuary (B) Dachigam Sanctuary
(C) Periyar wildlife Sanctuary (D} Kaziranga National Park
I S HRT ARIAE) Y vema g8 o o -

() 1890 (@) 1920 (1) 1932 (%) 1945

The Indian Red Cross Society was Established in the year —
(A) 1890 (B) 1920 (C) 1932 (D) 1945

g W o R 2o Rt v ¥, wae s -
(%) 1,00,00,000 (@) 10,00,000

(31) 1,00,000 (&) 10,000

A Number that the European countries call Million, is qual to:

(A) 1,00,00,000 (B) 10,00,000
(C)1,00,000 (D) 10,000

TR 3791 AT S ¥~

(%) et (@) Fea g7 srgest o
(31) Su-reeufy ®i (&) <irep awTeTEl Pl

9



The President of India submits his resignation to:

(A) Prime Minister (B) Chief Election commissioner
(C) Vice-President (D) Speaker of Lok Sabha

W e, fora WA o -

(&) 27 Rrawas (@) 24 acay

(1) 8 w§ (&) 15 T

U.N Day is observed on:
(A) 27" September (B) 24" October
(C) 8" May (D) 15" March

YR 27 AA1Lge P €, 9999 § —
(®) T Rd <19P YR (@) vt fawd Rig
(1) O R HAIel Yo AAxdvl (a) 374 | DS &

Who is the present chief of Army staff:
(A) General Deepak Kapoor

(B) General Vikram Singh

(C) General Manoj Mukund Narvane
(D) None of the above

wEIAT e <férr siflhe 9 WRe $a 919 Sy ?
(+) 1913 (&) 1919 (71) 1915 (1) 1921

When did Mahatma Gandhi return to India from South Africa?
(A) 1913 (B) 1919 - (C)1915 (D) 1921



10.

11.

12.

AR R S 95t vemo be g o ?
(@) 1932 (&) 1935 (1) 1936 (%1) 1938

When did Reserve Bank of India established?

(A) 1932 (B) 1935 (C) 1936 (D) 1938

T 99T BT ARAIF B o ?

(%) gaffi= (@) aiftafm (1) gfr (°) T

Who was the founder of Sung Dynasty?

(A) Pushyamitra (B) Agnimitra (C) Vasumitra (D) Vajramitra

RS 90 ol Rag & ?
(@) g (@) gRa (1) g2 (=) s

Where is Sharda Pitha situated?
(A) Badrinath (B) Dwarka (C) Puri (D) Shringeri

PIL &1 sraemvon e <1 § weuwt g8 ?
(@) faeq (@) sikgfern (1) wRa (&) st

In which country the concept of PIL originated?

(A) United Kingdom (B) Australia

(C) India (D) United States
IR § ol T D ey v § ?

(B) 7 (@) 8 (71) 9 (=) 10



13.

14,

15.

How many Union Territories are there in India?

(A) 7 (B) 8 (C)9 (D) 10
TNl feavl B9 g9 S 7
(@) 21+ (@) 21 [T (71) 5 9 (u1) 12 JT8

When is Environment Day celebrated?
(A) 213t June (B) 215t July (C) 5t June (D) 12" July

PRTE S R P AT FATTE ?

(@) forsl Serep o PIRNTETE To= A ¥ |

(@) fopit well wifer eaRerd i # IR F1 FMHR [HH -1 &
(1) A PRI H Dd B B

(u1) Wt BRI &1 el M B B

Which of the following statement about cells is true?
(A) Cells of tissue have a similar structure.

(B) Size of cells is same in a well organised organism.
(C) All the cells have nucleus.

(D) All cells are round in shape.

T AR el & Ira YW g2 759 &= A 2

(%) 22 fegvaR (@) 21 A ()22 R (") 4 999
The minimum distance between the Sun and the Earth occurs on.
(A) 22" December (B) 21%t June

(C) 22™ September (D) 4" January



16. WA &1 ygen TRHTY] Rugex o1 9M w & ?
() wrgv™ (@) sroa1 (1) wfersiy (%) ¢

What is the name of India’s first Nuclear Reactor?
(A) Cyrus (B) Apsara (C) Kamini (D) Dhruva

17, =8 4R, Wit feR % o qon & g wmam o » wwifa § -
(%) som g wfex (@) 27 < R
(1) B9 3 §Rew (a1) p=man < wfew

The temple dedicated to Lord Sun for Chhath puja in Bihar-
(A) Ular Sun Temple (B) Dec Sun Temple
(C) Umga Sun Temple (D) Kandala Sun Temple

18.  SRIEH = | fbas =mnder e £?
()9 (@) 1" (1) 13 (®1) 15

How many Judges are there in an International Court of Justice?
(A)9 (B) 11 (C) 13 (D) 15

19, wra H Tr=forfea Rl 9 P19 srach o fisn &= @ $ra Reg 3 -
(%) BICHFYR SR (W) ATeTat &1 SN
(71) ST IO (&) 379 9 BIS T

Which among the following Platues in India lie between Arawali
and Vindhya region?

(A} Chhotanagpur Plateau (B) Malva Plateau
(C) Deccan Plateau (D) None of These



20. 99 7 HRd | = 8 R {5 1S 1 Uo e A8

21.

22.

23.

(F) Ba (@) e (31) gem (|) =TT
Penganga is tributary of which of the following river in India?

(A) Kaveri (B) Godavari (C) Krishna (D) Narmada

Frefeafted 4 9 o9 91 <= 9Ra, 9 3R =R ¥ B-sieee a9 E ?
(&) qrg (@) arFaSTen (1) ~TieLen (9) wierg &

Which of the following mountain passes forms the tri-junction of
India, China and Myanmar?

(A) Diphu (B) Bombdila (C) Nathula (D) Jelapla

dﬁﬂaﬁéﬁmzﬁﬁaﬁﬂmiﬂwwmﬁ’rﬁmm%?
(®) o | (@) ~Tren (71) Grem (&)

Which colour certificate is issued for a registered sheed?
(A) Red (B) Blue (C) Yellow (D) Purple

IRY ST @ < T e ?
(®) 14 9§ 2014 (@) 1%=a% 2015
(1) 118 2015 (=) 15 3R 2014

When was Niti Aayog established?
(A) 14" May 2014 (B) 18t January 2015
(C) 15t July 2015 (D) 15" August 2014



24, ﬁmﬂﬁwzﬁgﬂmmﬁqﬁwaﬁaﬁﬁﬁa@aﬁﬁﬁgﬁmﬁ%‘ ?
(&) 1980 (&) 1985 (71) 1989 (&) 1991

In Which year two additional commissioners were appointed for the
first time in Election Commission of India?

(A) 1980 (B) 1985 (C) 1989 (D) 1991

25. fave @ med feaw 2020 @1 SeEH Ty -
() STl T waRed SR &) werEr |
(@) =+ vd TEa) & wer |
(1) @Ry <@9 e § ONeM |
(9 wae" @ B THef |

What is the Tag line of World Health Day 2020
(A) Support Doctors and health professionals
(B) Support Nurses and Mid-wives

(C) Contribute to health care

(D) support health care

26.  gEaE Pifds—19 gt Ao R W o g1 9% @ E 1
BTSN Ao ¥ ?

() uf¥=m dma (@)SwRueer  (MAgwRw  (¥) fRAEx

Chief minister COVID-19 ‘Yoddha Kalyan Yojna' is a welfare
scheme launched by which Iindian state?

(A) West Bengal (B) Uttar Pradesh
(C) Madhya Pradesh (D) Bihar



27. S Ghard B AW R ¥, S ufdew g AR i & el R 91 |
THART T | qad T ?

(&) 3l (@) fret (1) 3BT (a) =t

What is the name of the cyclone that recently turned into a cyclonic
storm on the coasts of West Bengal and Oddisa.

(A) Amanda (B) Nisarga (C) Amphan- (D) Fani

28. Ty a4 FASIRA G2 3rUIRIel Bl N1 ol guil i ?

(@) 1992 (&) 1997 (1) 1987 (er) 1972

In which year Mizoram and Arunachal Pradesh got statehood?
(A) 1992 (B) 1997 (C) 1987 (D) 1972

29. fpde W wRA” WS fh fordi ¥ ?
() T ArgeTh (@) o 24
(1) gt Ty (=) ST STHRATA

Who has written the book “Cricket my style”™?
(A) Sachin Tendulakar (B) Kapil Deo
(C) Sunil Gavaskar (D) Lala Amarnath

30, ‘@R’ ¥ e ) 9 A e ek g ?
(@) 13 (@) 15 (1) 17 (=) 20

How many number of Red balls are there in ‘Snooker'?
(A) 13 (B) 15 (C)Y17 (D) 20



31.

32.

33.

34.

Feafafm @ S fé‘r%u‘r TS dPTs ¥ —
(&) MPEG (@) NPEG (1) LPEG (1) OPEG

Which of the following is a video compression technology?
(A) MPEG (B) NPEG (C) LPEG (D) OPEG

aiSid B IvAd B oad P ?
() = T () S v
(31) 319 3 (1) ATH T e

Who was the author of the book ‘Forbidden Verses”.

(A) Taslima Nasrin (B) D. H. Lawrence
(C) Abu Nuwas (D) Salman Rushdie
e AN A9Th fvew o —

(@) <o sReawg (&) 3w 3w

(1) fheT w=n (&) wgHn

First Indian sound film was
(A) Raja Harishchandra (B) Alam Ara
(C) Kishan Kanya (D) Madhumati

T U & ) B A T 9 UK 9 &) WHEe qm y P
(®) 1/6 (@) s (71) 1/9 (=) 1/12



39.

36.

37.

38.

What is the probability of getting a sum 9 from two throws of a

dice?

(A) 1/6 (B) 1/8 (C) 1/9

I p/q = p+q+p/q &, A 82 B AM & -

(F) 6 (@) 10 (1) 14

If p/q = p+q+p/q, then the value of 8/2 is —
(A) 6 (B)10 (C)14

Tfd 48 avgali o1 a Tea 32 IS B AFa Yeu & WK &, 1 @ TR

frame ?

(@) 20 (@) 25 (1) 50

(D) 1/12

(e1) 16

(D) 16

(=1) 75

If the cost price of 48 articles is equal to the selling price of 32

articles, then what is the profit percentage?

(A) 20 (B) 25 (C) 50
1.5625 P A & —
(®) 1.05 (@) 1.25 (1) 1.45

Square root of 1.5625 is —
(A) 1.05 (B) 1.25 (C)1.45

(2sin6 + 3 cosH) BT A A & —
(@) 2 (@) 13 (1) 1

b

(D) 75

(&) 1.55

(D) 1.55

(1) V15



39.

40.

41.

The maximum value of (2sing + 3 cos0) is ~

(A) 2 (B) ¥13 (C) 1 (D) V15

wwﬁ—mﬁsﬁvaﬁ@ézﬁéﬁaﬂwzaﬁa%w&wﬁqﬁﬁ
206 Hie g, Tl 3BT &ma ¥ —

(®) 2520 TR (@) 2480 Teifex
(1) 2420 =i Hex (%) 2580 Tfdex

In a circle the difference between the length and the breadth is 23
meter. If its perimeter is 206 meter, then its area is —

(A) 2520 m? (B)2480m?  (C)2420m? (D) 2580 m?2

uﬁﬁmﬁﬂﬂmﬁmzso%aﬁ?m%aﬁzﬁ%ﬁm@%m
Terern wferema & ?

(%) 75% (@) 80% (1) 84 -;i% (1) 92 5%

If two numbers are respectively 30% and 40% more than a third
number. What percentage is the first of the second.

(A) 75% (B) 80% (C) 84 g% (D) 92 g%

51ﬂaxs1ﬂax22.5ﬁﬁr.aﬁﬁawwﬁzﬁﬁvmzsﬁ.x11.25?#1?[.x
6 W) A9 Y e €1 & smavyear 26 —

(¥) 5600 (@)e6000 (1) 6400 (=1) 7200

How many bricks each measuring 25 cm x 11.25 cm will be
needed fo build a wall of 5m x 6m x 22.5 cm

(A) 5600 (B) 6000 (C) 6400 (D) 7200




42. Rar30 6. 9o o 3R vo FR=w fag o ol & ? 57 o9 <% o)
e & 919 98 15 fF . ol &, 390 919 92 97E iR g1 @ 9« 30 B Al
el S &1 1 98 39 e fieg 9 frem ol fa feemd &

(&) 10 f5H. g9 (@) 15 M. =9
(71) 20 fHH. qxa (=) 30 f5A. Txq

Riya goes 30 k.m. towards north from a fixed point, then after

turning to her right she goes 15 k.m., After this she goes 30 k.m.

after turning to her right. How fare and what direction is she from
- her starting point.

(A) 10 k.m. East (B) 15 kom. East
(C) 20 k.m. East (D) 30 K.m East

43, U 9 | [ 180 W ¥, T wwer: 1w, 50 W IR 25 W B
Ry 2:3:4 & orura § ¥ &) 50 YA & Ryges o dewn w ¥
(¥) 60 (@) 100 (1) 120 (") 150

Rs 180 contained in a box consist of 1 rupee, 50 paise and 25
paise coins in the ratio of 2:3:4. What is the number of 50 paise
coins?

(A) 60 (B) 100 (C) 120 (D) 150

44 Ie A=1, FAT=27a@1FAITH="?
(@) 44 (@) 42 (1) 41 (") 40

IFA =1, FAT =27, then FAITH = ?
(A) 44 (B) 42 (C) 41 (D) 40



45, AR I s TR I AA B I alw s, dfhT C 3 91 sim ¥

46.

47.

D, B%mﬁ@v%ﬁﬁmE%mﬁaﬁ?%lwwmmmvﬁeﬁaﬁ
%ﬁﬂ%—

(®)B (@)D (MA (@) C

Of the five members of the pannel sitting in a row, A is to the left of
B but on the right of C. D is on the right of B but is on left of E. Find
the member who is sitting in the middle.

(A) B (B) D (C) A (D) C

Yol 1 9 IRl & 1w e Fiftem s $1 aadi o 3 99 100 =
TG, FORTY SeT Sid 8 W9 9 TR | 9T 41 SR -

(@) 20 (@) 21 (31) 28 (=) 32

Ranjeet has a certain average for 9 innings. In the 10t | Inning he
scores 100 runs thereby increasing his average by 8 runs. His new
average is —

(A) 20 (B) 21 (C) 28 (D) 32

2100 ®9Y 2 T B forg 5% wﬁraﬁ%w&gwwﬁmm%i 2 99
1 [l et R ure BR Y

(¥) 2300 (@) 2315.25 (1) 2535 (®1) 232525

Rs 2100 is lent at compound interest of 5% per annum for 2 years.
Find the amount after two years.

(A) 2300 (B)2315.25  (C) 2325 (D) 2325.25



48.

49.

50.

ST G TR ¥ 3[4 e @ qIaeE T 3 Frted 16 e 9k
gl ¥ AT TR AR PRl B 9 B ¥ 7 T B g v @ g
foran e T wE ¥ -

(%) 48 firie (@) 46 fi=1e (1) 60 fire (1) 66 fiT

Walking % of his normal speed Shaurya is 16 min late in reaching
his office. The usual time taken by him to cover the distance
between his home and office.

(A) 48 min (B) 46 min (C) 60 min (D) 66 min

T ST 9 Y3 Are R ve vdided 2 Wew o ¥ | R B I W swl
3if@ ¥ SaTg o1 BoT 30° ¥ A AR PSS T -

(F) 14 Aex (@) 12 ¥eR (1) 10 WeR (%) 8 W

An observer 2m tall is *¥/3 meter away from a tower. The angle of
elevation from his eye to the top of the tower is 30°.The height of
the tower is”?

(A) 14m (B) 12m (C) 10m (D) 8m

Tz A IS A B ORI 1223 T9 2351 § WM 99 TR 99 991 90
N 85 gAATE |

(@) 42 (&) 1100 () 127 (") 1133

What is the greatest number which on dividing 1223 and 2351
leaves remainder 90 and 85 respectively?

(A) 42 (By 1100 (C) 127 (D) 1133

/5
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FHgex st § ey a9 ¥ -
(A) OPCODE (B) OPERAND
(C) Both of above (D) None of above

Instruction in computer languages consists of
(A) OPCODE (B) OPERAND
(C) Both of above (D) None of above

T DY B W N et N R & apfr ¥ 7
(A) Fourth Generation (B) Fifth Generation
(C) Sixth Generation (D) Seventh Generation

Which generation of computer is still under development
(A) Fourth Generation (B) Fifth Generation
(C) Sixth Generation (D) Seventh Generation

AT 21 STY NErer o Sy & & g st WRex @Y, el
ST § ~

(A) Counter (B) Loader
(C) Adder (D) Shift register

A register organized to allow to move left or right operations is

(A) Counter (B) Loader
(C) Adder (D) Shift register



56

TN AB Tgel TG BT HYER B Al o ?
(A) IBM 1650 (B) IBM 360
(C) IBM 1130 (D) IBM 2700

Which was the most popular first generation computer?

(A) IBM 1650 (B) IBM 360

(C) IBM 1130 (D) IBM 2700

wegel vl 3Ye fearsw i A e ® 7

(A) Optical Scanner (B) Mouse and digitizer
(C) Light pen (D) All of the above

Which is considered a direct entry input device?
(A) Optical Scanner (B) Mouse and digitizer
(C) Light pen (D) All of the above

T BT T A S T Wfedn B amdfed e @ Rerfy @1 aRefi

I —
(A) Process control (B) ALU
(C) Register Unit (D) Process description

A set of information that defines the status of resources allocated

to a process is
(A) Process control (B) ALU
(C) Register Unit (D) Process description

s
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U3
oo

59

60

AftaR % wfysyi (Napier's bones) & yRE A H........... TS Bl ¥

(A)5 (B)9

(C) 11 (D) 13

Each set of Napier's bones consisted of............. rods.
A5 (B)9

(C) 11 (D) 13

(A) Binary Coded Decimal (B) Bit Coded Decimal
(C) Binary Coded Digit (D) Bit Coded Digit
BCD is....

(A) Binary Coded Decimal (B) Bit Coded Decimal
(C) Binary Coded Digit (D) Bit Coded Digit

Wﬁgﬁmmmﬁnﬁqmmsﬁvﬁmﬁmﬁmﬁmwm ?
(A) Hewlett-Packard, 1980 (B) Epson, 1981
(C) Laplink Traveling Software Inc, 1882 (D) Tandy Model-200, 1985

When was the world’s first laptop computer introduced in the market
and by whom ?

(A) Hewlett-Packard, 1980 (B) Epson, 1981
(C) Laplink Traveling Software Inc, 1982 (D) Tandy Model-200, 1985

T T/ siffen Rivew Rl e o o) 2
(A) First (B) Second
(C) Third (D) Fourth




6/

b2

From which generation operating systems were developed ?

(A) First (B) Second
(C) Third (D) Fourth
et &1 Swpeia B

(A) An area that is used for viewing documents
(B) An area that organized your documents
(C) An area that gives you quick access to files
(D) All or the above

The Window’s Desktop is

(A) An area that is used for viewing documenis
(B) An area that organized your documents
(C) An area that gives you quick access io files

(D) All or the above

farz (lcon Jorss 9 a9 & -

(A) A picture of symbol that represents a command
(B) A photograph

(C) A Leader

(D) A Symbol of Power

The term fcon refers to ........

(A) A picture of symbol that represents a command
(B) A photograph

(C) A Leader

(D) A Symbol of Power

/4



£5

b6 b

b5

SR wu W waRerd e wer ol ¥ -

(A) Field

(C) Information

Properly arranged data is called
(A) Field

(C) Information

T FeT B B §
(A) A central processing unit

(C) Input and output unit

A Computer consists of
(A} A central processing unit

(C) Input and output unit

9T T DY qreq N T B ST ¥ ?

(B)

(D)

(B)
(D)

(B)
(D)

(B)
(D)

Words
File

Words
File

A memory
All of the above

A memory
All of the above

(A) Because they can amplify the weak signals and make them strong

(B) Because they can stop or allow the flow of current

(C) Both of above

(D) None of above
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67

Why are vacuum tubes also called valves?

(A) Because they can amplify the weak signals and make them strong
(B) Because they can stop or allow the flow of current

(C) Both of above

(D) None of above

Tee IS AeI—TIRE & FA § —
(A) True (B) False
(C) BothAandB (D) None of these

Multimedia is similar to Multi-Tasking

(A) True (B)  False
(C) Both AandB (D) None of these
T T IRuet ¥

(A) A complicated circuit
(B) An integrating device
(C) Much costlier than a single transistor

(D) Fabricated on a tiny silicon clip

An integrated circuit is

(A) A complicated circuit

(B) An integrating device

(C) Much costlier than a single transistor

(D) Fabricated on a tiny silicon clip
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£9

aﬁmiﬁwawﬁmﬂmﬁﬁmﬁ%ﬁm,wwmiﬁ
ﬁﬁwﬁmaﬂﬁ%mwmﬁmﬁwﬁﬁmmzﬁﬁdamﬁ?aﬁ
ST BT & ?

(A) Bus control (B) Interrupts
(C) Bus arbitration (D) Status

What type of control pins are needed in a microprocessor to
regulate traffic on the bus, in order to prevent two devices from
trying to use it at the same time?

(A) Bus control (B) Interrupts

(C) Bus arbitration (D) Status

Tl B ATSH el Y eE W e ¥, g dware ?
(A) Stationary (B)  Difficult to move

(C) Dragged (D) Moved in smail steps

Where as a computer mouse moves over the table surface, the
trackball is.............0.....

(A) Stationary (B) Difficult to move
(C) Dragged (D) Moved in small steps

ﬁmﬁ%aﬁﬁﬁmmmﬁwmmﬁm#mmmzﬁmﬁﬁmw%?
(A) Magnetic drum (B) Hard Disks
(C) Floppy Disk (D) Alicf these

Which of the following is used as a primary storage device?
(A) Magnetic drum (B) Hard Disks
(C) Floppy Disk (D) All of these

v
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>3

CPPH R 3ifave o3 & RiT, 8.l TSN BISd Bl STURT BT
Hifey ?

(A) <iostream.h> (B) <string.h>
(C) <math.h> (D) <stdio.h>
To perform string operations in cpp, we must use......... header file.?
(A) <iostream.h> (B) <string.h>
(C) <math.h> (D) <stdio.h>

.............. wTsqul g7, |1, e fareg ol udie whie ol file ¥ foag fem
W TAP B S B ufchar ¥ —

(A) Document (B) Character
(C) Paragraph (D) Object

............. formatting is the process of changing the way letters,
numbers, punctuation -marks, and symbols appear on the screen
and in print.

(A} Document (B) Character

(C) Paragraph (D) Object
CPPUITH T3+ & YEeTTa# A eril & ?

(A) Preprocessor (B) Punctuation symbols
(C) Operators (D) Reserve words

CPP program line begins with # is called?
(A) Preprocessor (B) Punctuation symbols

(C) Operators (D) Reserve words
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75

K4

Eﬁﬁiﬂﬂémﬁmmﬁmiﬁ?ﬂﬂ—mﬂwmﬁ .......
) ey e ¥ |

(A) Lines (B) Characters
(C) Paragraphs (D) All of these

The Word Count command on the Tools menu displays the

numbers of words as well as the number of.... . in the ‘current
document

(A) Lines (B) Characters

(C) Paragraphs (D) All of these

RDBMS &1 a1ffurg & -

(A) Relational Database Management System
(B} Real Database Master System
(C) Roll Database Management Structure

(D) Raster Data Manipulation System

RDBMS stand for -

(A) Relational Database Management Sysfem
(B} Real Database Master System

(C). Roll Database Management Structure

(D) Raster Data Manipulation System

........... 1 SFUBH, 3ERi, wema iR e auif &) SaRafy sk ameR @
TR s ¥ |

(A) Font (B) Font Size
(C) Point (D) Paragraph Formatting

A
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78

79

The............. , or typeface, defines the appearance and shape of

letters, numbers and special characters.
(A) Font (B) Font Size
(C) Point (D) Paragraph Formatting

o ifovex @ 71ais (modulus ) & w9 H SIMT AR E ?
(A) - By /
C) % D)y +

Which operator is known as modulus?
(A) * By /
C) % (D) .+

ae 3R v gfeat & forg ey f5¥1 Tab &1 sH@ B4 ?
(A) Home (B) References

(C) Review (D) None of above

Which tab you will use for spelling and grammar errors?
(A) Home (B) References

(C) Review (D) None of above

ferferfaa <irg= 3ife P @1 MSTye @ 8 ?
intj; j=10; — —j; cout<<j;

(A) error By M1
) o (D) 9
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81

39

What will be output of following line of code?
int ] ; j=10; — —j; cout<<j;

(A) error (B) 11
C) 0 (D) 9

39 FOTIRE =R Bre B B oferT w1 wHY § 7
(A) Press F8 again to disable (B) Press Del to disable
(C) Press Esc to disable (D)  Press Enter to disable

How can you disable extended selection mcde?
(A) Press F8 again to disable (B) Press Del to disable
(C) Press Esc to disable (D) Press Enter to disable

T iferst § Ta 3 S1fir key. attributes 1 @t v §7
(A) Candidate keys (B) Super key
(C) Foreign key (D) Non key

More than one key attributes in a table are called?
(A) Candidate keys (B) Super key
(C) Foreign key (D) Non key

sﬁ@aﬁqmwﬁeﬁﬁwwﬁﬁwﬁléﬂﬁ

(A) Standard (B) Formatting
(C) Print preview (D) None of these

726




Which of these toolbars allows changing of Fonts and their sizes?

(A) Standard (B) Formatting

(C) Print preview (D) None of these
83 - Red Hat Linux g&........ '

(A) Operating system (B) Compiler

(C) Editor (D) Interpreter

Red Hat Linux is a/an

(A) Operating system (B) Compiler
(C) editor (D) Interpreter
84 BISURIeTT 3MsdH Inserttab # ............... TR Rera & —
(A) Links group (B) Tables group
(C) Text group (D) None of the above

Insert Hyperlinks icon is located on Inserttab in .........

(A) Links group (B) Tables group

(C) Text group (D) None of the above
B && TH ... % 7

(A) value (B) variable

(C) operator (D) data type

&& is afan....... ?
(A) value (B) variable
(C) operator (D) data type

27



(A) Insert (B) Home

(C) Review (D) None of the ahove

Bold, italics, Underline, justify is located on......... Tab.

(A) Insert (B) Home |

(C) Review (D) None of the above
2 PR 3= I T e e Y |

(A) LIFO (B) FILO

(C) LILO (D) FIFO

Stackis alsocalled as..............

(A) LIFO (B) FILO
(C) LILO (D) FIFO
] Afhy TS B §8 B B T, a9 g r wed ¥ —
(A) Ctrl + W (B) Ctrl + C
(C) Ctrl+Shift+C (D) All of the above

To close the active documents, you can press
(A) Ctrl + W (B) Ctrl + C
(C) Ctrl+Shift+C (D) All of the above

(A) input function (B) output fuction
(C) variable : (D) data type



putch () is a/an

(A) input function (B) output fuction
(C) variable (D) data type
g . TR ® onsd R @ 99d 9ad § -

(A) Page setup of page layout tab
(B) Font of Home tab

(C) Paragraph of Home tab

(D) None of the above

We can change the line spacing of documents from
(A) Page setup of page layout tab

(B) Font of Home tab

(C) Paragraph of Home tab

(D) None of the above

91 - 3MY.... D BTN PIFHEIS B U 2j&en BT Tg7 B qhd &
(A) Clicking the upper-left cell in a group of cells and then
pressing the shift key while clicking the lower right cell in a
group cells
(B) Pressing the Ctrl key while dragging over the desired cells
(C) Pressing the Shift key and an arrow key
(D) None of the above

27



You can select a single range of cells by

(A) Clicking the upper-left cell in a group of cells and then
pressing the shift key while clicking the lower right cell in a
group cells

(B) Pressing the Ctrl key while dragging over the desired cells

(C) Pressing the Shift key and an arrow key

(D) None of the above

Q9 T B 51 el B STeBReas wiehes < am o W &2
(A) Contents (B) Objects
(C) Scenarios (D) All of the above

Which elements of worksheet can be protected from accidental
modification?

(A) Contents (B) Objects

(C) Scenarios (D) All of the above
V3 g ve g R ot o v e &

(A) Copy cell contents (B) Move cell contents

(C) Add cell contents (D)Aand B

You can use the drag and drop method to

(A) Copy cell contents (B) Move cell contents
(C) Add cell contents (DYAand B
3y S U PTG T ST BIRTHIS § S U TaTE Y S <o -

(A) Data will be entered in the adjacent cells
(B) No data will be entered in the adjacent cells
(C) There is no suitable abbreviation of the text
(D) None of the above

(}@
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It is acceptable to let long text flow into adjacent cells on a
worksheet when —

(A) Data will be entered in the adjacent cells
(B) No data will be entered in the adjacent cells
(C) There is no suitable abbreviation of the text
(D) None of the above
TRIeT 9 Tl Aot 9R Tl 92 T TR W s
(A) Deletes the object
(B) Nothing the right mouse button is there for left handed people
(C) Opens a shortcut menu listing everything you can do to the
object
(D) Selects the object

Right clicking something in Excel will

(A) Deletes the object

(B) Nothing the right mouse button is there for left handed people

(C) Opens a shortcut menu listing everything you can do to the
object

(D) Selects the object

veraH # 2T g e
(A) Destination and users of the output data
(B) Source of input data
(C) Information on the purpose of the workbook
(D) All of the above

Documentation should include

(A) Destination and users of the output data
(B) Source of input data

(C) Information on the purpose of the workbook
(D) All of the above

2/



9F  Ruifril w1 swur wR BRI § wiver o wwa ¥
(A) Edit > Comments (B) insert > Comments

(C) File > Comments (D) None of the above

Comments can be added to cells using.

(A) Edit > Comments (B) Insert > Comments

(C) File > Comments (D) None of the above
9Q fr=feriae # < 9 qoefie fyomes wres A8 ¥ 2

(A) Efficiency (B) Auditibility

(C) Description (D) Clarity

Which of the following is not a worksheet design criterion?

(A) Efficiency (B) Auditibility
(C) Description (D) Clarity
g9 T 3R S 1 SN 3 et W B wRR e @ B qarg
(A) End key (B) Shift key
(C) Ctrl key (D) None of the above

To Copy cell contents using drag and drop press the
(A) End key (B) Shift key
(C) Cirl key (D) None of the above

‘)QV




/00 ferferaa 4« 1 w1 7 i (absolute ) Wel Wed & ?
(A) 1Al (B) $A$1
(C) #a#1 (D) A1

Which of the following is an absolute cell reference?

(A) A1 (B) $A$1
(C) #a#1 (D) A1

/o) vl w9 9 39 gex TOn ¥ A 9 igex W wen o gl wE | 59
AT BT gTo TP T

(A) Tools >> Options >> View tab

(B) Tools >> Options >> Calculation tab
(C) Tools >> Options >> Edit tab

(D) None of the above

By default, the cell pointer moves down when you press Enter.
From where can you change this setting?

(A) Tools >> Options >> View tab

(B) Tools >> Options >> Calculatibn tab
(C) Tools >> Options >> Edit tab

(D) None of the above

{02 ST 3T M W, TR TR B0 ST @ WHM A e g% ¥
Zafera WU ¥ a8 ure fewnan ¥l 98 gfasn ® f5w wu | o e ¥ -

(A) Auto Fill (B) Auto Correct
(C) Auto Complete (D) Auto Format

SE
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[05

When you start typing the same value as of some cells on same
column, Excel automatically shows that text. This feature is kKnown
as —

(A) Auto Fill (B) Auto Correct
(C) Auto Complete (D) Auto Format

39 B B H SUERT §U BIgell § W Bige A W T viza R wed ¥ ?
(A) 4 (B) 6
C)9o (D) 12

How many recent files you can display on File menu at maximum?
(A)4 (B)6
(C)9 (D) 12

TeRiel 2010 W T 7S BrAgRas & e vl 3ie e ¥ —
(A) 3 (B) 4
(C) 1 (D) None of the above

The default number of sheets for a new workbook in Excel 2010 is
(A)3 (B) 4
(C)1 (D) None of the above

S 3 AR T R § SR Tl ok L O e ¥ ) vowe e,
AT THE1: WREl ¥l Tl hal I st i e s e & 9

(A) Auto Complete (B) Auto Format
(C) Custom List (D) Calculation Automatic

Y
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When you enter Sunday and fill right, Excel fill in with Monday,
Tuesday and so on. From where Excel knows what to fill in next?

(A) Auto Complete ‘ (B) Auto Format
(C) Custom List (D) Calculation Automatic

TR ¥ A9 3 Read 376 & fag ey o <Fed AR srfeemad qed
FrgiRe &< wea § -

(A) 1 and 120 minutes (B) 0 and 120 minutes
(C) 2 and 60 minutes (D) 1 and 10 minutes

The minimum and maximum value you can set for Save Auto
Recovery Info in Excel are

(A) 1 and 120 minutes (B) 0.and 120 minutes

(C) 2 and 60 minutes (D) 1 and 10 minutes
$H ¥ ®H relative address & ?

(A) A6 (B) A6

(C)Both Aand B (D) None of the above

Which is the relative address?
(A) AB (B) $A%6
(C)Both Aand B (D) None of the above
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[70

ﬁm@mﬁﬁwwdﬁﬁaﬁvw%@?%%wm%?ﬁw
BN ?

(A) This will remove row headings and column headings of your
data

(B) This will remove the column headings (A, B, C)
(C) This will remove row and column heading of chart

(D) This will remove row and column heading of table

What happens if you remove the check mark from Row & Column
headers on Options dialog box?

(A) This will remove row headings and column headings of your
data

(B) This will remove the column headings (A, B, C)
(C) This will remove row and column heading of chart

(D) This will remove row and column heading of table

TeRiel BRIYFE H Rtiee B emadR ¥ —
(A) 10 points (B) 12 points
(C) 14 points (D) None of the above

The default fond size in Excel worksheet is

(A) 10 points (B) 12 points

(C) 14 points (D) None of the above
TRIA H 1T fewiee i ¥ -

(A) Arial (B) Algerian

(C) Times New Roman (D) None of the above



The default font used in Excel is

(A) Arial (B) Algerian
(C) Times New Roman (D) None of the above
.  side object B @ srafdy Prefer & fam —

(A) Transition—Timing—Duration

(B) Transition—Transition to this slide
(C) Either A& B

(D) None of the above

To set time duration of slide object
(A) Transition—Timing->Duration

(B) Transition—Transition to this slide
(C) EitherA & B

(D) None of the above

/}2 . ‘Cdlongws ¥

(A) Function (B) Operator

(C) Constant (D) Data type

In ‘C" Long is a/an ?

(A) Function (B) Operator

(C) Constant (D) Data type
112 i vl § o wogs afafea w9 @ forg oiidee ¥ ?

(A) Ctrl + M (B) Alt + M

(C)Ctrl+ N (D) Alt + N



Shortcut to insert new slide in the current Presentation is?

(A) Ctrl + M (BYAlt+M
(C)Cirl + N (D) Alt + N
//[7, conio.h & B7?
(A) data file (B) header file
(C) linker (D) program block
conio.h is a/an ?
(A) data file (B) header file
(C) linker (D) program block
15 R @rge | I ARt wany ?

(A) A method of moving items on a slide
(B) A type of animation entrance effect
(C) A method of advancing slide

(D) All of the above

What is a motion path in Power point?
(A) A method of moving items on a slide
(B) A type of animation entrance effect
(C) A method of advancing slide

(D) All of the above

oY)



- NOT NULL & ¥ 7

(A) query (B) attribute type

(C) constraint (D) logical operator
NOT NULL is a/an ?
(A) query (B) attribute type
(C) constraint (D) logical operator
/ > o TR A werEEd B 09 B @ fore Suan f5U o are e gurl @
HE I § ?
(A) effects (B) custom animations
(C) transitions (D) present animations

Special effects used to infroduce slides in a presentation are

called
(A) effects (B) custom animations
(C) transitions (D) present animations
I8 e s o ¥ R st 1 1o BR W gl o ¥ R R 9
FrepTen wien B
(A) Queue (B) Stack
(C) List (D) File

is a pile in which items are added at one end and removed
from the other.

(A) Queue (B) Stack
(C) List (D) File

22
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mma@m@ﬁﬁmwﬁgmaﬁw—mzﬁwmm
€ 74 399 e fhe vreg &1 SwiT v s 7

(A) Highlighting (B) Dragging
(C) Selecting (D) Moving

What is the term used when you press and hold the left mouse key
and move the mouse along the text?

(A) Highlighting (B) Dragging
(C) Selecting (D) Moving

ST W SEiod Yeral B g™ B e § ?
(A) summarization (B) elimination
(C) hiding (D) casting

Removing redundancies from database means?

(A) summarization (B) elimination

(C) hiding (D) casting
T VelEEN A AHUTHS T ) SiSDR MY Th GHE SURARY B g
Ahd & ?

(A) Create a template (B) Edit the slide master

(G) Use the autocorrect wizard (D) All of the above

How can you create a uniform appearance by adding a
background image to all slides?

(A) Create a template (B) Edit the slide master

(C) Use the autocorrect wizard (D) All of the above

\,i{‘)
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IR-—vfharcs v B N T ?
(A)C (B) SQL
(C) Java (D) C++

Which one is non procedural language?
(A)C (B) SOL
(C) Java (D) C++

P TINTH BRI Held TN ©F A1 fIdey smuel Tie a1 dveq Wik 92
AN & DI SR Sar ® 7

(A) Add effect (B) Emphasis

(C) Animate now (DY All of the above

Which option on the custom animation task pane allows you to
apply a preset or custom motion path?

(A) Add effect (B) Emphasis

(C) Animate now (D) All of the above
1150 2 | AN Jfovex g b wiren & ?

(A) AND (B) NOR

(C)OR (D) ++

Logical addition is done by operator

(A) AND (B) NOR

(C)OR (D) ++

Y,
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agwssmwwmﬁﬁwaﬁwmaﬂ?mﬁiﬁﬁmaﬂﬁt
R o Torg o wiren ¥, ot et e ¥ |

(A) table slide (B) graph slide
(C) bullet slide (D) title slide

The slide that is used to introduce a topic and set the tone for the
presentation is called the —

(A) table slide (B) graph slide
(C) bullet slide (D) title slide

(A) Switching algebra (B) Arithmetic algebra
(C) Linear algebra (D) Algebra

Boolean algebra is also called.................
(A) Switching algebra (B) Arithmetic algebra
(C) Linear algebra (D) Algeora

iﬁﬁwﬁmmm,aﬁf,ﬁﬁ#mﬁmawaﬁﬁaﬁamﬁém
8?7

(A) Create effect (B) Inserz motion path
(C) Draw custom path (D) All of the above

Which option allows you to select line, curve, freeform or scribble
tools?

(A) Create effect (B) Insert motion path
(C) Draw custom path (D) All of the above

Y



128 fr= 9% 9 soL wuis ifeme (table) 31 T @ fre wdT @ S B?
(A) DELETE (B) ERASE
(C) REMOVE (D) DROP

Which of the following SQL command used to delete table?

(A) DELETE (B) ERASE
(C) REMOVE (D) DROP
/9.9 e =Te Silesiae ®1 BN
(A) Is determined by the presentation design and cannot be
changed

(B) is determined by the presentation design but can be changed
in PowerPoint

(C) is dependent on the amount of text within the organization
chart

(D) BandC

The size of the organization chart object -

(A) i1s determined by the presentation design and cannot be
changed

(B) is determined by the presentation design but can be changed
in PowerPoint

(C) is dependent on the amount of text within the organization

chart
(D) BandC
| Bo =1 4 A BF W IR @rEe § wirss o fewiee U Wes™ aRieeH ¥ ?
(A) Vertical (B) Landscape
(C) Portrait (D) None of above



Which of the following is the default page setup orientation of slide
in Power Point?

(A) Vertical (B) Landscape

(C) Portrait (D) Nonz of above
/3] © IP TSR H O 9N SReAYH 1P tSH BT s | ?

(A) 4 bits (B) 8 bits

(C) 16 bits (D) 32 bits

What is the size of Source and Destination IP address in IP

header?
(A) 4 bits (B) 8 bits
(C) 16 bits (D) 32 bits
30 - Ephemeral ports @5 faf¥Tee <9 & & ?
(A) 1to 80 (B) 1 to 1024
(C) 80 to 8080 (D) 1024 to 65535
What is the typical range of Ephemeral ports?
(A) 1.to 80 (B) 1to 1024
(C) 80 to 8080 (D) 1024 to 65535
152 T AR B W Teget B P B @ frrt w1 v U wE S
&?
(A) Server (B) Internet
(C) Protocol (D) OSI Model
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A set of rules that govern all aspects of information communication
is called?

(A) Server (B) Internet
(C) Protocol (D) OSI Model

3 a1 3R AR S arel Yavel @1 fRvelsvl e te Heaw 9@ g W
TP e we s ¥ 7

(A) IP Filtering (B) Data Filtering
(C) Packet Filtering (D) Firewall Filtering

Controlling access to a network by analyzing the incoming and
outgoing packets is

(A) IP Filtering (B) Data Filtering
(C) Packet Filtering (D) Firewall Filtering
DHCP.....covuves P18 ArH F 7

(A) Dynamic Host Control Protocol

(B) Dynamic Host Configuration Protocol
(C) Dynamic Hyper Control Protocol

(D) Dynamic Hyper Configuration Protocol

DHCP is abbreviation of

(A) Dynamic Host Control Protocol

(B) Dynamic Host Configuration Protocol
(C) Dynamic Hyper Control Protocol

(D) Dynamic Hyper Configuration Protocol

Ny
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(A) to connect LANs (B) to separate LANs
(C) to control Network speed (D) All of the above

What is the use of Bridge in Network?
(A) to connect LANs (B) to separate LANs
(C) to control Network speed (D) All of the above

[ 37 Seqd HoreT B §
(A) in case of traffic overloading
(B) when a system terminates
(C) when connection between two nodes terminates

(D) None of the above

Network congestion occurs

(A) in case of traffic overloading

(B) when a system terminates

(C) when connection between two nodes terminates

(D) None of the above

[38 Sead # Ve o1 @ arf ¥ ?
(A) Transmission capacity of a communication channel
(B) Connected Computers in the network
(C) Class of IP used in Network

(D) None of above

Yb



What is the meaning of Bandwidth in Network?

(A) Transmission capacity of a communication channel
(B) Connected Computers in the network

(C) Class of IP used in Network

(D} None of above

139 . FrfRmitdm @ PR S W R w2
(A) Network bit - 14, Host bit - 16
(B) Network bit — 16, Host bit - 14

(C) Network bit — 18, Host bit - 16
(D) Network bit — 12, Host bit - 14

Which of the following is correct regarding class B Address of IP
address?

(A} Network bit — 14, Host bit - 16
(B) Network bit — 16, Host bit - 14

(C) Network bit — 18, Host bit - 16
(D) Network bit — 12, Host bit - 14

4o S, HE1 WO B foTY v e o e War v e B7
(A) TCP (B) IP
(C) UDP (D) All of the above

........... provides a connection-oriented reliable service for sending

message
(A) TCP (B) IP
(C) UDP (D) All of the above



(¢ Y19 U Heqa W 91 Bl § ?
(A) Forwards a packet to all outgoing links
(B) Forwards a packet to the next free outgoing link
(C) Determines on which outgoing link a packet is to be forwarded

(D)}Forwards a packet to all outgoing links except the originated
link

What does Router do in a network?

(A) Forwards a packet to all outgoing links

(B) Forwards a packet to the next free outgoing link

(C) Determines on which outgoing link a packet is to be forwarded

(D)Forwards a packet to all outgoing links except the originated
link

142 - T e 1 s R E 7
(A) To test a device on the network is reachable
(B) To test a hard disk fault

(C) To test a bug in an Application
(D) To test a Printer Quality

What is the use of Ping Command?

(A) To test a device on the network is reachable
(B) To test a hard disk fault

(C) To test a bug in an Application
(D) To test a Printer Quality

Ub
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(A) 04 (B) 08
(C) 16 (D) 32

What is the size of Host bits in Class B of IP address?

(A) 04 (B) 08
(C) 16 (D) 32
U CIDR¥ Fafafea d S R arwd & ?

(A) Class A includes Class B network
(B) There are only two networks
(C) There are high & low class network

(D) There is no concept of class A, B, C network

Which of the following is correct in CIDR?
(A) Class A includes Class B network

(B) There are only two networks

(C) There are high & low class network

(D) There is no concept of class A, B, C network

us Wl weNH W uiparg o frdt €Y 1€ uRa IR AN B ¥, e ¥ —
(A) UDP process (B) intranet process
(C) Server technology (D) Peer to peer process

Y9
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The processes on each machine that communicate at a given
layer are called?

(A) UDP process (B) Intranet process

(C) Server technology (D) Peer to peer process

Frr=ferRaa o @ oM 3w Yead v wa AS ¥ ?
(A) Transport Layer (B) Network Layers
(C) Data link Layer (D) Physical Layer

Which of the following layer is not n.etwork support layer?
(A) Transport Layer (B) Network Layers
(C) Data link Layer (D) Physical Layer

AR Wl SUANTed| 6 J9Uel S@m o Igafy I ¥, S...... BE Wil
T?

(A) Internet Browser (B) Website
(C) Interpreter (D) Operating System

Software which allows user to view the webpage is called
as &

(A) Internet Browser (B) Website

(C) Interpreter (D) Operating System

.......... BRIGH WHEfd T4 4§ A B ¥ 3K 99w B UTH 99 P v 4§
weferd B § —

(A) Utilities (B) Add-ons

(C) Plug-ins (D) Widgets

121%
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/150

........ programs are automatically loaded and operates as a part of
browser.

(A) Utilities (B) Add-ons

~ (C) Plug-ins (D) Widgets

FE Sl I HFYEN W AT AT ST BT SR BREAT §, 9 Bal Wl &

........ 0T |
(A) Server (B) Client
(C)BothA&B (D) None of these

Computer that requests the resources or data from other computer
is called............... computer.

(A) Server (B) Client
(C) Both A& B (D) None of these

AREGR H TIAYH 3R 319 faem @ fao = 3 9 v umar o1 sua far
ST & ?

(A) C-Program (B) Java
(C) HTML (D) None of these

Which of the following language is used to write animation and
games in browser?

(A) C-Program (B) Java
(C) HTML (D) None of these

5]






Pagelof1l

Bihar School Examination Board, Patna
At Ristes wramr qfie (STET), 2019 &) qerdier

Subject Code:- 207 PAPER- II Subject:-Comp. S¢
Date of Exam:-21.09.2024 Timing:- 12.00-2.30 P.M. Sitting: 11 _
QNo,| Ans. | QNo. | Anps. Q.No.| Ans. [Q.No.| Ans. Q.No.| Ans.

| D 31 A 61 D 91 C 121 B

2 B 32 C 62 A 92 D 122 A

3 B 33 B 63 C 93 D 123 A

4 C 34 A 64 D 94 B 124 A

S B 35 C 65 B 95 C 125 D

6 C 36 C 66 B 96 D 126 A

7 C 37 B 67 A 97 B 127 C

8 B 38 B 68 C o8 C 128 D

9 A 39 A 69 A 99 C 125 D

[(} | wrongaer. 40 D 70 A 100 B 130 B

Il D 41 WRONGOPT. | 771 B 101 C 131 D

12 B 42 B 72 B 102 C 132 D

13 C 43 C 73 A 103 C 133 C

14 c 44 A 74 D 104 A 134 C

15 D 45 A 75 A 105 C 135 B

16 B 46 C 76 A 106 A 136 A

17 B 47 B 77 C 107 A 137 A

18 D 48 A 78 C 108 B 138 A

19 B 49 B 79 D 109 D 139 A

20 B 50 D 80 C 110 D 140 A

21 A 1 C 81 D 111 A 14] C

22 D 52 C 82 B8 112 D 142 A

23 B 53 B&D 83 A 113 A 143 C

24 C 54 D 84 A 114 B 144 D

25 B 35 D 85 C 115 A 145 D

26 C 56 D 86 B 116 C 146 A

27 c 57 C 87 A 117 C 147 A

28 C 58 A 88 A 118 A 148 C

29 B 59 B 8 | 8 [ 119) B | 149 A
| 30 B 60 C 90 C [120] B | 150]| B







